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WHEXR ERNEXFABHFERES

% R R& - RTE L3 % 8 B & & W=
B R A 2,304,400 + 37,378 2,341,718
EEAGE 2,304, 400
E#EEE 37,378
Z Ot R il 2,304,400 x 53.85% (0.35 ~ (1 —0.3% ) 1,240,919
5 2,341,778 + 1,240,919 3,582, 697
—REERE (IR 3,582,697 x 53.856% (0.35 .~ (1 — 0.35 ) 1,929, 282
EFME GREEREAD 3,582,697 + 1,929,282 5,511,979

—REHE 1,929,282 - 1,979 1,927, 303 |tk R 28

E Al 3,582,697 + 1,927,303 5,510, 000
HERFHLE 5,510,000 x 10.00% 551, 000

FHEREH 5,510,000 + 551, 000 6,061, 000




BEARE ERNELHIREN S ERER

£ 1 FRIE - ROKTiER B{ B = B & e W E
EEAGE
2, 304, 400
BRFER
= 1 1,561, 500
BRMERR
IEH 5 312, 300 1,561, 500
ig - |mE
=X 1 366, 600
E=¥:iE e
] 1 99, 900 99, 900
SRS
= 1 99, 900 99, 900
=IR|E
= 1 166, 800 166, 800
RE
= 1 376, 300
EHBESTRREER
% 1 356, 150 356, 150
AFARARRRDIER
=% 1 20,150 20, 150
BEERE
37, 378
EHERRE
=% 1 19, 378 19, 378
ERRRERE
=% 1 18, 000 18, 000




AR i ENEEHP NS ERES
&S 1
ERAER 1IEENY
# s - Bk ik B 5 B ff 4 # " =
FEEED A 0.5 66, 900 33, 450
HEm (A) A 1.5 59, 600 89, 400
HEm (B) A 1.5 48, 500 72,750
HEm (C) A 2.0 40, 300 80, 600
Hifrg A 1.0 36, 100 36, 100
= &t YEERESN - 1.0018H 312, 300 312, 300
‘S :2
ES I 1 ESY
# $HE - PRk B 5 B ff % # " =
HEf (A) A 1.0 59, 600 59, 600
HEm (C) A 1.0 40, 300 40, 300
= &t YEZ8EH : 1.00[E 99, 900 99,900
H#5:3
PR 1 ESY
# 145 - Fodkt iR B ¥ B ff % ﬁ =
HEm (A) A 1.0 59, 600 59, 600
HEm (C) A 1.0 40, 300 40, 300
= &t 1YEZHES - 1.00[E 99, 900 99, 900




AR i ENEEHP NS ERES
B2 4
BIEHRE —
% # i - kT B 5 B ff 4 S =
FEEED A 1.0 66, 900 66, 900
HEm (A) A 1.0 59, 600 59, 600
HEm (C) A 1.0 40, 300 40, 300
= &t YEZHERH : 1.00[E 166, 800 166, 800
S 5
% B R EEER ETT
% # i - TR B ¥ B ff 4 W = =
FEEED A 1.0 66, 900 66, 900
HEf (A) A 1.0 59, 600 59, 600
HEf (B) A 2.0 48, 500 97,000
HEf (C) A 1.5 40, 300 60, 450
Hifig A 2.0 36, 100 72,200
= &t 1EZ8ESH : 1.00K 356, 150 356, 150
B2 .6
SERRER DR ETT
% # 1 - Bk hiE B B B ff % W = =
HEm (C) A 0.5 40, 300 20,150
= B 1EZfEH 1,00 20, 150 20,150
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ERNEXRGPAEHFERES
&#5:1
EHEARE 18y
% R B - kT B % 8 i ] = " &
EBRRE = 1.0 19, 378 19, 378
a g YEZREH - 1. 00K 19, 378 19, 378
&5 :8
EBRERE 18y
% ¥R B - kT By % = fiff # wm = " &
E e TTE = 1.0 18, 000 18, 000
a Ei YEEEEH - 1. 00 18, 000 18, 000
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